EARAROBEEIERT — 2 N— IBISH —F

20145F8H208 (k) 12EE&&HE2H

KOW &7 3 3% 3 Y IR3W

(xwlw | lmEmml - |5 5) wom 8

[AE4£] 1% :215000 ™ ~ 23#%:39,000 M ~ 37#&:16,000 ™  43#&:10,000M / 5&:0M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< HLEFRER :29. -1-1- . — ABED (BEHE)
1177 IHXT LTI 4 3 P 1(2_9)9 1-1-1-1 | 40.6 1 ;1+513; ot
RixA1=Tr—2 Bivv/ Rkvany FAFAT7— L
o Ss IENEES :30. —6-5- . - Wile— (BHE)
2lglg|/NhITw T 3 el (12310/24) 6-6-5-3 | 40.0 4 (4+431) ;;;gg;;
R:x¥/ by THY B:Poo¥UA R’ 5
RV B3 | LLEHE 1:30.6 7-7-7-4 | 40.0| — 5 489 | NIIFE% (BEHE)
3lglg|77¥F—Ya—h 54.0 ) (+5) (E)X7‘5‘/l~“5ﬁ(i%
L1 bT7Ly 7R B RIV—INZ J5 Rikig
s R 4t 3 | FE3AE 1:30.9 3-4-3-2 |M.1| — 2 508 | RARK (BHE)
41111 |E2LYEHFR A53.0 (1 1/2) () |
R:vavrsheT B:HyvELTIT D a fiE  EAA
5 . jt 3 | RESH 1:31.4 5-5-6-6 | 41.0| — 6 469 | BB (BEHE)
IR AL T A51.0 (21/2) © | @ Tr-—2bEvar
R:TZ2748— BihLrF RS EH77—L4
Oy A 3 | SHEX 1:32.6 2-3-3-5 |42.8| — 7 390 |BETIE—5 (BHE)
Ly YA 54.0 ®) 43 | W Traanmz
LI YT BIXZATY Il #Eth
FTA—IXVII o3 | AMHE 1:(3;).2 9-8-8-8 |42.6| — | 9 | 487 ig;g%% (BEE)
QN—UFNT e BHIIHTLET O | Egpan Afrxz—T0
_ NAKE . _g-g- — RHBA (BHE)
S HO—5 i3 AL 1.(314).4 8-8-8-9 |42.8 8 as) e )
R/ KRS vy s B:FR/0E> ZETT— L
BRAE :34. -2-2- . — M TRRE (BHE)
9/5|5|FLI1FFTEXYT 3 54.0 1(/:3‘;—;1 M e ’ :1_633) Bt
LA TPAT B:FTU-UU> ZTANT 7 — L
® I—F—@EBIERL
15l=2F= 7,3,1,5,4,9,8,6,2
23—7+— |7,5,3,1,4,9,8,(2,6)
T =35r= 7,5,(1,3),9,4,8,(2,6)
43—+ — 7,1,9,8,3,4,5,2,6
[ RN
B 7 110 794K 7-9 230 & 7-8 250/ &R 7-8-9 1,050
# B 7 1004 7-8 360 B E 7-9 520 EE 7-9-8 2,720/
9 180M 8-9 1,010 B H 7-9 540
8 380F

ABICOVWTRDTEEERROODE. TR LIV,




